Answer the following on separate paper (handwritten is acceptable).


On what two factors does hard disk access time depend? Explain each. [4]


Give two advantages and three disadvantages of SCSI compared with (E)IDE. In what type of computers are SCSI hard disks most often found? [6]


Describe 5 telecommunications technologies used to connect to the Internet. [10]


Name and describe the purpose of 5 devices used to connect local area networks together into larger networks. [10]


Name and describe 5 types of Internet applications for end-users. [10]


List 5 advantages and 5 disadvantages of having a network. [10]


Imagine that you have been assigned to network some stand-alone computers into a LAN for a small organisation. 


What would you need to know? What questions would you ask the organisation? [10]


What equipment would you need? [5]


What steps would you take to set it up? [10]


Construct a table to summarise the Open Systems Interconnect Reference Model. It should have the 5 columns listed below and 7 layers. Use all resources at your disposal, including your class notes and the handouts from Client/Server Information Systems and How Computers Work. [35]


Layer name�
Description of purpose (in your own words)�
Commonly used protocols�
Data objects and addresses used�
Hardware and software used�
�
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